£9l: 18l

M2
of st
of st EZE
of st J|EFSrof
Stojf st R
oy st o
of st
t = e
i ALO| B = BBt (Al ()l A
5,086, 1~4&Hd 4,889)
FEENEE; Z IER IEE
EEEEE R NEEE;
- o|of T} o| 5t}
5t
N Aegns  JNLs - .
= +oins - RS DS PlEns
EEC ERNREEE;
st Mot
o} 5t Mt
2| E] Mot
o Hfo[ 2 o[ ot 2 M oS st
o T UNxSIToS=T
SBHEAZ - HED AEMY
2 MEYEZ M2 - Hof
HAZZ  BAB MADSEE
. StA AHI 2 o A HI
nhst7] S oh ot E - g EA Al L
- MEIsHE C|AZ 0] S=T aTHle EST
FEA 22| oo Ef A Abnfst B) NRSET - Aol ol
ClAZa0| g3 - pE B URE| S ZER 0| ot T}
—=TrEs 7|74 g3 sthole 2| E|-X|
=sddl .ol x| = AlolHd
A AEXSHE
g|l:€_||-
S
BTIAIE S UL R S A S (Rted)
3|5t AHH 27LE 7 - glo|o|E{Alolel A
B AXE
al
2OIETA EE,
AL xXSHE
%EPﬁEEEH _T!__TI_I:I| éll-_ji\—t_;tj_lrx L|J\
2
EXE] ol 14| AE)e 14 2(H 1~ AE)M -4 M@)oy 14 AE)AM NERE 1-2 1~4
= o=z 3 4230 4.033 4,290 5037 4.840 5.082 4,885 5. 784 6.404 6.207 6.207
S S| H| 8 8 8 8 8 8 8 8 8 8 8
ol 3 3 3 3 3 3 3 3 3 3
= 1.9 1.9 1.9
13.5 10.5 10.5 13.5 10.5 13.5 10.5 13.5 13.5 10.5 10.5
7 7 7 7 7 7 7 7 7 7 7
i 4,420.5] 4,061.5 4,318.5 5,068.5 4,868.5 5,113.5 4,913.5 6,435.5 6,235.5 6,235.5
= 5,226.4 4.867.4 5,973.4

2 Z2 idsttel 5

J

* W3|H| ; 2817| ntm



